Varied Fluency
Divide 3-Digits by 1-Digit

Developing
1a.268+2=134
2a.639+3=213
3a. True.

4a. >

Expected

5a. 627 +3 =209

ba. 366 + 6 = 61

7a. False, the correct answer is 108
8a. <

Greater Depth
9a. 559 + 6 = 93 remainder 1.

10a. 771 = 9 = 85 Each school received 85

tickets and there were é left over.
11a. False, the correct answer is 250
remainder 2.

12a. >

Varied Fluency
Divide 3-Digits by 1-Digit

Developing

1b. 555 +5=111

2b. 848 + 4 =212

3b. False, the correct answeris 110.
4b. =

Expected
5b. 496 +4=124

éb. 357 = 7 = 51
7b. True.
8b. >

Greater Depth

¢b. 382 + 7 = 54 remainder 4.

10b. 934 + 4 = 233 There will be 233
children in each team and 2 left over.
11b. False, the correct answer is 289
remainder 1.

12b. <




